Graph

e Exponential

e Log

e Trig graph

e Transformations

e Higher order polynomials
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1. The zeros of a ﬂartlc polynomial function h are —3,0, and + 4. Sketch a graph of y =h(x)
on the grid. 4-1
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2. The x-value of which function’s x-intercept is larger, f or h?
Justify your answer. e Six) = log(x - 4)
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3 Sketch a graph that has the following characteristics: T
« three real zeros A
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4. Write an equation for the function shown
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Which statement about the graph of c(x) = logsx is FALSE?

The as i _0y 8 A ‘ o
. ymptote has the eqyat‘mn ofy=0 \6*\(3 w=D ,

b. The graph hasno y-intercept. (orye.

c. The domain is the set of positive reals. "1, €

d. The range is the set of all real numbers.— 7 ¢
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Write an equation in standard form for the function shown
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Which functlon represents exponential decay?
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c. y:2.32x —T

d. g = 30.2x




9. What is the equation of the directrix for —8(y — 3) = (x + 4)??
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10.  Given 2* = 11 — 2x, solve for X, to the nearest tenth graphically.
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11.  Sketch a possible function p(x) = (x — a)(x — b)(x + ¢), A ‘5
P
where a, b, assg=® are positive, a > b, and p(x) has a
positive y-intercept of d. Label all intercepts.
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12, Sketch at least 1 cycle\of g@wﬁh an amplitude of

3, a midline of y =-3/2
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functions with an amplitude of 2, a period of E, a

13. On the axes below, gra hl-yo—r;; C cieiof aﬁgsme NN NEN L] L1111

midline of y =-1, and passing through the point (0,1). EREREENRNE
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14.  Giveny = 2.5(1 — 2.771%%), Which equation is NOT equivalent?

a. y=25-252771%) (pishibtud
b. y = 25-25(27)) W) (Powerto Pover= mudi piy)

| , y =2.5—2.5(2.7)72(2.795%) E

15.  Graph y = 400(.85)%* — 6 on the set of axes. y
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16.  The graph of y = f(x) is shown. The function has a R 1

leading coeefifcient of 1. Write an equation for f(x).

The function g is formed by translating function f ! -
@f’; 2 units, Write an equation for g(x). |
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17, Graphy = log,(x + 3) — 5 on the set of axes. Use an & y
appropriate scale to include BOTH x and y intercepts. EEEEEEN l 1
Describe the behavior as x approaches -3 and as x A B A "
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approaches positive infinity. As x> - %J - W ! . |
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18.  What is the solution to the system of equationsﬂy = 3x - ‘fﬂand y = g(x), where g(x) is
| ——
defined by the function below.

a. (0,-2) i

b. (0,-2) and (1, 6)

c (16 .

("d. (1,1)and (6, 16) )
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